Algebra 3/Trigonometry
Graphing Problems


Graph the following completely on the axes provided.  Show all important points.  For sin x, cos x, sec x and csc x show one cycle.  For tan x and cot x, show 2 cycles.  

1.  
[image: image1.wmf]æö

=-+

ç÷

èø

x

y3cot3

4


2.  
[image: image2.wmf]æö

=-p+

ç÷

èø

4x

ycos1

3


3.  
[image: image3.wmf]p

æö

=++

ç÷

èø

x

y5csc3

44


4  
[image: image4.wmf](

)

=--p

1

ysecx2

2


5.  
[image: image5.wmf](

)

=+p-

y4sin2x32


6.  
[image: image6.wmf]p

æö

=-+-

ç÷

èø

ytan2x1

2


7.  
[image: image7.wmf](

)

=-+p-

13

ycosx

22


_1141555297.unknown

_1141555738.unknown

_1141555778.unknown

_1141556170.unknown

_1141555751.unknown

_1141555692.unknown

_1141555274.unknown

